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A wer any 2 full questions, choosing one full question from each part.
Questions Ma RBT! CO's
tks| |
- [1]|aDerive the continuity equation for three dimensional flow! 7 L2 ! COZI
| | [in Cartesian coordinate system b
' [bThe velocity components in two-dimensional in 8 L3/CO2
| | lcompressible flow fiald are evarassed as BERERE e i
ol Ivu = y/3 +2x-x’y and V = xy* 2y- x*/3 Determine A :
- | |velocity and acceleration at point P (x=1m, y=3m) ' i
c| The velocity pcruerltial function for a two dimensional 10/ L3 CO2
| flow O= x*(3y -2). At a point P(2,3) determine: } '
| | |1 velocity at that point. 6, ii) The value of stream function(| |
el L’.p ) at the point |
E . OR
2|aShow that for a pitot tube actual velocity V = Cdy (2gh) 7 'L2{CO3
| | with usual notations.
b n a two-dimensional incompressible flow, the ﬂuicﬂ 8 |L2|CO2
3  velocity components are given by u=x - 4y and
| Y = -¥y- 4x. Show that velocity potential exists and [
ine its form. Find also the stream function
|©[The velocity potential function & = - Xy/3 -X*+X*y+y* |10|L3 | CO2
T i P s . .
) Find the velocity component in x and y directions.
ii) Show that @ represents a possible case of fluid flow.
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the throat is 35em of mercury. Find the 1
'&% ASSIII'I]ECd 0.98.

:,;'plpe The stagnation pressure head is 6m and the static
ssure head is Sm. Calculate the velocity of tflow.
ssume Cv=0.98.
) Derive the expression for discharge through al 5
>nturimeter L2

OR

4|a[Derive the Bernoulli's energy equation from the Euler's

motion equation, mentioning clearly the assumption made
In the derivation.

| 7.

-]

CO3

~ |bJA pipeiine carrying oil of specific gravity 0.87 changes in| 8 |L2
lameter from 200mm diameter at aposition A to 500mm|
lameter at a position B, Which is 4m at a higher level. If
e pressures at A and B are 9.81 N/cm? and 5.886N/cm?
ctively and the discharge is 200 It/sec. Datenmne the
oss of head and direction of flow.

CO3

c|A horizontal venturimeter with inlet diameter 30cm and 10 |L3
ﬁi@ oat diameter 15cm is used to measure the flow of oil of
| ific grawty 0.8. The discharge of oil through
"| |venturimeter is 50 litres/sec. find the reading of the oil-
| |mcrcury differential manometer. Take Cd = 0.98

CO3
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